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READ THE INSTRUCTIONS CAREFULLY

HOW T
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TIME: 1HR. 40MINS

E THE ANSWER SHEET

R

1. You have been given this question booklet and a separate ANSWER SHEET. The guestion boakisr ccntams 50 guestions.

-
L

Do any necessary rough work in this booklet.

3. Use only an ordinary pencil.
1. YOUR NAME 2. NAME OF YOUR SCHOOL 3. YOUR INDEX NUMBER
l.  Whichoneofthe followine components ofbloodisfoumd | 7. Which ofthe following activities does not pollute the sqil?
in large numbers in infected sites of the body? A. Using farm chemicals excessively
A Plasma B White blood cells B. Using fertilizer excessively
C. Redblood calls D.Platelets * C. Burying brokeén glasses and plasticin the soil
2. Below are the processes that take place during D. Burying arganic matter in the soil
reproductionin h‘[mganbﬂngs 8. Which one of the fDIlOWiEIg statement is true about
(Pyimplantation (i) fertiizzion Gonorrhoea, syphillis and chancroid?
(iijovulation’ - {iv parturition A.Thcyamcausedb}rlh:samgmimmganim
Which one ofthe following shows the correct order in B. They can only be prevented by abstinence
which the above processes occur? C. They haveno cure
A il 1, i, B.iii, i1, iv D. Theycan only be transmitted through sexual
Civii L1 D.iv i infercourse
3.  Themostlikely reason why lactatingmotherrequirefood | 9. Which of the following is the correct order of energy
nchinronisto: transformation in an electric bell using a battery?
A, include extra fluids for milk production A. Electric, Magnetic, Chemical, Sound
B. replace the amount of blood she loses during birth B. Chemical. Electrical. Magnetic, Sound
C. mﬂmmeelmmtsmdedf‘mﬁ-ee f'ﬂnnanmnf teeth C.Sonmd M.ag:w-* Elantrie) 4 sy
and bones in the baby D. Sound, Chemical Magnetic, Electrical
D. give them energy 10. Whichofthe following best explains what xerophytes?
4. Whichone of the following practices would break the [ife A. They are plants that are able to survive in moist soil
cycleof the parasites that cause bilharzia? B. They are plants that grow in different areas depending
A Drinking clean boiled water onhow they are adapted
B. Using latrines and toilets properly C.Theyarcplam'smatamablewmrimﬁidryarm
C. Killing all fresh water snails ina dam D. Theyare plants whose survival mecharisms make them
D. Wezring gumboots and rubber gloves whenworking survive inthejr habitats
inaflooded area 11. Whicheneofthe following 1s NOT a straight fertilizer?
5. Which ofithe following is a gradual sign of ill health in A. Diamonium Phosphate
livestock? B, Calctumammonium nitrate . ;
A.Coughing B. Blood in stool €. Urea
C. Rough coat D. Lossof weight D. Muriate of potash
& 12, The following are disadvaniages of hard water except?

Which of the followingare greennon ﬂnwenngpiants‘?
A, Moss. Algae. Lichens -

B. Femns, Toadstools, Algae *

C. Kales, Moss, Eucalyptus "

D. Evealyptus, Kales, Moss *

A Ttdoesnot lather easily with’ 150ap -
B. Itblocks the boilers and kegtles -
C. It prevents rusting due to the formation of scale
D). Itis easily got from rain and does not form scales
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13. The diagram below represents a simplified blood

16.

circulatory svstem.

Which pair of Blood vessels represents the main artery

and vein respectively?
APQ B.SR
C.RQ D.QR

In which one of the following is water re-used?

A Using dirty water from kitchen for watering plants

B. Collecting rain water from the roof for domestic use
C. Getting clean water from dirty water by boiling and
D. Storing waterin dams to be used in Imgation
Which animals best fits in the part marked X and 51
in the diagram below.

9
X 1% oy

A Spiny ant enter | Bat
B.Bat Fish¥ -
C. Snake Bird
D.Frog Monkey
The statement below describes the birth process
{i} labour pain begins
(i) cutting umbifical cord
(iii) expulsion of the baby
(iv)contractionsof thewterine walls =
(v) tying the iumbilical cord

The correct arrangement of the process should be
AL LD LY Biiv.i i1 v
Coivi i D iid, v iv, iz

18 Whichmeofﬂnfoiiowtgtymsuﬂevmbelongmﬁm

18.

19.

20.

same class of levers as the one drawn below?

F

A clawhammer * B. fishingrod
C. lid opener %, B wheelbarrow
The following are effects of drug abuse
(i)Rape (i) Addiction -
(it} Lack of concentration (v Truancy !
(v) Impaired judgement

Which of these are all health effects?
AL B.ii, v “
Cirmvnw x D1, i, v

In order to separate 2 mixture of salt and sand one should
AL Stir, evaporaté and dissolvein water

B. Evaporate, and dissolve in water

C. Dissolve in water, filter and evaporate

D. Filter, dissolve in water and evaporate

The Diagram below was set up when investigating

transformation of energy.
/bv y cells

I +Hl+

Coﬁ?ﬂ’
wive

2):

22,

Which one ofthe following is not away of increasing the
magnetism ofthe nail?

A Using amagnet mstead of a nail

B. Increasing the number of dry cells

C. Increasing the number of coils

D. Using insulated copper wire

Which ofthe following activity involvesrecycling of water?
A. Using water for washing clothes tomop the house
B. Filtering muddy water to remove soil particles

C. Storing harvested water in water tanks

D. Boiling river water to make it safe for drinking
Which of the following is not an advantage of breast milk
to the infants?

ATt boosts the hfununjtyofthe‘mmhcr

B. It strengthens mother to child bond

C. It contains enough water and sugar

D. It is free from disease causing germs
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24,

26.

27

28.

The method shown below 1s the most convenient way of
drawing water from a borehole because 2

/

P gy e rer =7 |

—T -
e
= =i

p—

A, It changes the direction of force iL
B. One applies less effort

R o

-C. Effort distance is equal to load distance

D. The effort is more than the load

The following are functions of the skin. Which one is
not? :

A. Cooling the body through evaporation

B. Synthesis of Vitamin D

C.Makes people look beautiful

D. Storage organs

In the diagram below the part marked X is used for?

oz 2 bivy waler
A oo S
“”n ””H— Fine sand
?:nﬁ.,ﬁan;n%—ﬂ‘,oafse, sand
R — Pebbles = .
Cotton wool
A fitiering i
C. trapping dust D. colouring water

Which of the following adaptations of animals is for

‘hoppingand leaping?

A_haveapowerful hindleg

B. have webbed feet

C. have smeamiined body

D.have fins on the body

Which ofthe following liquids will form a homogensous
THixtE

A kerosene. water B.temperature, Ink

. petrol, diesel . D.nurpentine, oil
Which group consists of renewable fonpsof energy
AL rees, sunilicht. biogas

B. natural gas. coal diesel

. forests, petrol, kerosene

D. wind, water, coal

29. Whichofthe following groups consistsof inclined planes
only?
A.road winding iip a hill, ladder, pulley
B.scissors, staircases, wedges'
C. ladder, ramp, road winding up a hill
D hammer, pliers, scissors
‘When preparing compost manure the following should
be done except A
A. itshould be turned regularly
B. top seil should be added to introduce bacteria
C. should be wetted to improve leaching
D. it should be covered with grass
31. What would be the effect in the food web below if all
hawks died due to'a mysterious disease?
awks

30.

Birds Snakes Chameleon
A Birds would increase and snakes decrease

B. All the other would die

C. Chameleonwould feed birds

D. All the others would increase

32. How does a katydid use camouflage as its adaptive
feanre?
A It looks like a stick
B. It changes colour
C. It looks like a leaf
D, Ithibemates

Fallowing ofthe land is important to farmers because this

Lad
_L-J

& ™

A. improves the fertility of the soil

B. preserves the so1l mosture

C. stops water from flowing down the slope

D trapsthe soil carried by the water
34, Thefollowing are the main functions of the ammiotic find

except?

A Allows the foetus to tumn freely in the uterus

B. Helps 1o protect the foetus from getting hurt when

somethitig presses the mothers belly

C. Acts as a shock absorber

D, Helpsin dilating the cervix
35, The beak shown below is ofa flesh eater bird which of
the following would you expectto find inits feet?
¢ A webbed feet
B.talons
C.longlegs
D hind legs
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4.

42,

2 Whamﬂrﬁmdmnof&mceusprmlmﬂtmgim

inthe skin?

A absorbing urea and mineral salis

B. digestion of: salts and waste products

C_absorption ﬂqumumﬁtxmﬂmhs from the
blood -

D. excreting blood components

Which of the following statements about HIV and AIDs

istrue?

A AIHIV positive victims are suffering from AlIDs

B. Thereare no visible signs during incubation period

C. The patient may not look normal and healthy during
window period

D. During window period one may look healthy and he
or she infecis other people

Which one of the following isasign of Anaemia?

A. Wrinkles on the face

B. Sores at the comers of the mouth

C. Shortness ofbreath

D. Thin and weak body

Thaeibllnwmg ms;gnsufﬂlheaiﬂamphmscanatm.

Which oneisit?

A_Spots and streaks

B. Sthmted growth

C.Low qua]ityﬁruducm

D. Curled leaves

Farmyard manure should be stored ina water proof area.

The main reason for this is o

A. allow it to decompose faster

B. prevent leaching

C. make it more palatable

D. prevent it from theft

In which part cfthe cactus plant does phntusymthms

take place?

A. Fleshthick green stems

B. Thomlike leaves

C.Roots

D. Fruits

Which of the following isnotause of the gasmarked x in

the composition of air shown in the pie chart below?

L

45,

47.

49.

A lighting of electric bulbs
B. making of food in green plants
C.extinguishmgoffire V'
D). used in preservation of soft drinks

- Which one of the following does not conserve soil?

A Practsing confour faming -

B. Ploughing along the slope

C.Growing of cover crops

. Bailding of porous dams

Birds have streamlined bodies. This kind of shape

A Increasesresistance to movement between the bady
surface and the air _

B. Reduces friction betweenthe body surface and the air

C.Makes them lighter when flying

D. Increases the rate at which it flies

Which of'the following metals cannot be attracted by a

magnet!

A_Brass, zinc, silver

B. Steel. iron, cobalt

C. Iron graphite, ¢hromium -

D. Tin, nickel, steel ;.

The following are reasons why an improved jiko spares

ENETEY except

A_Clay is a poor eonductorofheat

B. Ithas small space for holding charcoal

C. Itis cone shaped

D. Clay does not insulate against heat loss

Which one of the following is a disadvantage of friction.

Helpsin

A. Movement between our feetand ground

B. Production ofheat

C. Causing wear and tear of shoes

D. Stopping moving objects

An insect pollinated flower has the following

A. Have brightly coloured petals

B. they are scented

C. thev have light polien grains

D they produce nectar

‘Which ofthe following parts ofa herbivorousis used for

tuming vegetable materials for proper chewing?

A.Homypand B. Diastena

C. Tongue D. Incisors
Which one of the following consists of a pair of storage
pests?

A Rats, aphids

B. White ants and rats
C. Aphids and cutworms -
D. White ants and cutworms
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